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Question’ No. 1 is Multiple choice type.
Answer any 3 parts out of 5 parts. Each-
part is of 2 marks. - 2x 3 =06 Marks
Question No. 2 is Very Short; Answer type.
Answer any 2 parts out of 5 parts. Each
part is of 2 marks. 2 x 2 = 4 Marks
Question No. 3 and Question No. 4 are
Short Answer-] type. Answer any 2 parts

from Question No. 3 and answer any
2 parts from Question No. 4. Each part is

of 4 marks. ' 4 x4 = 16 Marks
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4, Question No. 5 and Question No. 6 are §) A A R f(x)=3x &R gfyanfse
Short Answer-I1 type. Answer any 3 parts R _
from Question No. 5 and answer any T fi K> R ?’,Fﬁ
3 parts from Question No. 6. Each part is ' . Cn
of 10 marks. 10 x 6 = 60 Marks 1) [ Uendn] HTwdloch %

Question Nos. 7, 8 and 9 are Long
Answer type. Answer any one question

i

i) [ R DS ¢

from these. Each question is of 14 marks. iii) f Ul § W AIEH T &
. . 14 x 1 = 14 Marks _ ' X
LW s gl | | iv) A That § FR T ADBEF ¢
| 2y (ay) dy ¥ e mg W W y=x+l, TH
—= | +|==| +sinj==|+1=0 2 & et Yy & '
A2 dx dx Yy =4x @ ?
=¥ ar & - - Hoo(1L,2) i) (2,1)
iii-]' . : ) oRehE T ' 1. a) The degree of differential equation
@)  tan! V3 -sec™ (~2) F HF WK & &y fayV . (ay) .
. _ 5 -+d— +sin—|+1=0
). o= ii) __% dx x dx
iij) = iv) 2% '8 .
3 3 | ) 3 i) 2
™ gEEe d"g EC i) 1 iv). not defined.
: 1+ x - -
: T . O b) tan” J_E—,sec '(-2) is equal to
1) 3 b - 3 ij = i -I
T . n 3
i) = v)
’ 6 "o i) 7 iv) 2%

3 3
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Integral _!- - x_ is equal to
i) —3 ii) 333
i) 2 iv) 13‘5

Suppose  that the function

f: R > Ris defined by f(x)=3x.

Then

i)  f'is one-one onto

iy . f is many-one onto

-iiij  fis one-one but not onto

iv) fis neither one-one nor onto.

~ On which point the line y=x+1 is

tangent to the curve y2 =4x7?
poo(1,2) i) (2,1)
i) (1,-2) iv) (-1, 2)
feg T o @geE {1, 2,310
R=({(1,1),(22) (3 3]’

A & iR 3 U €
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j' scczx dx & HF I0d ﬁ%ﬂy
cosec’x '

wiwer [$09 2]=13 3] @
x, Y Ul z#qﬁiﬂﬁﬁﬁ%ﬂﬂ
?ﬂ? 2P(A]=P{BJ=% 3 P{A/B}=52
& PlAU B) T TF I T

2 A A A .
WfeE a =i -2 +3k 3
b =3i-2]+k FHTE I I

T | |
Prove that in set { 1, 2, 3 }, the
relation given by '
R={(1,1),(2.2),(3.3),

C o (1,2),(2,3)]
is reflexive, but neither symmetric

" nor transitive.

b}
C)

d)
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Fmd the value of IM dx.

Cco S«E{,:2

From equation .

Xx+y 2 6 2
[ 5+ 2 xy] [5 8] ﬁnd the

values of x, y and Z.

If 2P(A)=P(B) = ﬁ and P(A/B)=
then find the value of P(AU B).
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Find the angle between the vectors
4 M il fat
a=1-2j+3k and

¥ A ) )
b=3i-2j+k.

% sin”' x + tan~ ' x =%, @ f\g

p A

a’bf&'ﬂﬁﬂ? 2x2 +1=4/5 .

mﬁ;mqﬁaﬁ T Ao GHIHTT
w0 By frwd A o o sh
% ol o W E

AR |a |20, b| 20 3R

- - - - . R ’
la+b|=|a-b|a fkEmru & ok

-3 - - i
a #N b TWER T EI

ﬁwg@qﬁ;ﬁ@a’i'_[a?,s;,{z,s,m |
¥ o IR aet @, fegat

(-1,-2,1)3R (1,2, 5)9 T
S el YET % YHRR £

1 1

If sin"" x + tan™

b .
X =~2-, then prove

‘that 2x? +1=45 .

Find the differential equation of
that family of ellipse whose focus
15 0On ll.ht* A-dX1S &il.]d centre is at
the ongin.
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- .
[f|a]|#0,|b|#0and

-5

la+b|=

—F
the vectors a and b are mutually
perpendicular. |
Show - that the line passing
through the points ( 4, 7, 8 ),
(2, 3, 4 ) is parallel to the line

passing through the  points
(-1,-2,1)and (1,2,5).
sin x ®1 log x o W& FFeEwerd s
T FiT

i 1 ¥ 11w A R PIE
el g S ¥ AT 3 AT O E

| Qr B’ |, then show that
—3

- TEERT R wer f(x) = x? +3x+5,l

x=1 W Gad Tl |

de= s Crah

x+y<4-

x=0

y=z0 & 3T

Z=3x+4y H AHhypgyg [E T
EEE
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Find the differential cocfficient of
sin v w.r.t. log x .

From integers 1 to 11, two integers
are selected at random. If their

sum 1s even, then find the-

probability that both the integers
are odd.

Show that the function

fix) =x? +3x+5, is continuous

at x=1.

Under the followmg constraints
x+y <4
-x20

y=0

find =~ the
Z=3x+4y.
=R T it e

flx) = 2x* = 3x° - 36x+7

J ved e f (i) S (i) TEEE 1

maximum - value of

l+a 1 1 . 1" 1 1
1 1+b 1 :{Ibc(l+—+'5+;
1 1 1+c¢ a ]

e it
a8 13 gt L
S0l t’?'"* S0 5 tanl 36
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x 2 41 dx mﬂﬂﬁﬁa;”iqt
_[ 2__—)_)(+6

o e qu}ﬁﬁ:{aﬂrSﬁFﬁ“ﬁx‘%i'

ngﬂhﬁWWBWW%' _
U""TWWA {TTHEFWTEFJT 9T B §
ﬂWﬂdﬂﬂmgimmw
B % U i e S € 3 e
21 F Wizl §a S |
.6[% y=cos(x+y}, —2n£x£2nﬁ
Y TEra % TR T i
W x4 2y= 0% GHRR E1

- Find the interval in which the.

function f(x] 2x3 - 3x2% - 36x+7
is - '
(i) increasing (i) decreasing.
Prove that
1l4+a 1 1 )
I 1+b 1 =_abc[1+_ 1.1
1 1 l+¢ a * b + c
Prove that
. =1 8
sin”’ —= 13 -17
1? +Sl 5 = 'Lan l g_g_
x? 4 1

Find the .
value ofI dx |

2
X7 —3x +6
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Ina bag A there are 4 red and

S5 black balls. In another bag- B

there are 6 red and 3 black balls,
One ball is taken out from A and

transferred in bag B. After this one
ball 1s drawn from bag B. Find the

probability of that to be red.

Find the equations of the tangents
to the curve y=cos(x +y),

~2n < x £2n which are parallel to

the line x + 2y = 0,

TF x? =4y AR WA @
x=4y -2 ¥ Oy 97 %1 saFe

Einfcaii!

FoEg fau g = sy W

HIGTT 1

x +2y=10

3x +4y< 24
x 2 0,y= 0

U Z =200x+ 500y @ RATH TH

el Hifau | -
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M sEEE GHART +2y =sinx &

ST &l e ShiteTd |

) 9% A @ B 3 Wod "9l € A Tgg
wifg & A @er B/ o @ mem
|

T) W r.(i4)+k)=6 3K
- A A A -
r.(2i+3j+4k)-5=0 %
w’ﬁaﬁ‘m.aﬂtﬁgtz,z,nﬁaﬁ
AT FHAA T R FERTOT 0

shifa |

) O QR w2 |
R={(a,b)e Zx2Z: (a-b), 5%
ferie & ) G e ey &,
R T O TR &

6. a) Find the area of the section
enclosed between the curve

x” =4y and straight line
x=4y -2 .
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Solve the following linear
programming problem by graphlrcal .
method  under  the foilowmg
constramnts :
x +2yz10-
3x 44y < -24'
x >0,y=z 0

of

Find the minimum value
Z =200x + 500y . '
Find the general solution of the
differential equation

-di + 2y =s£nx+

dx- _

Prove that if A and B are
independent events then A & B’
are also independent events.

Find the vector equation of a_
plane, passing through the

intersection of the planes
-3 AL A A

r.(i+j+k)=06 and
— A A Ly
r,[2f+3j+4k]~5=0 and the

point {2, 2, 1 ).

If in the set of integers Z,
R={(a,ble ZxZ: (a-b) is
divisiblé by 5 } be a given relation, |
then is R an equivalence relation ?

| Turn over
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7. ®)  fpsfeiE @i T
x+ty+z=6
X-y+z=2
2x+y—z=1
w1 aege fafu @ &e HI
L 5 = - b
@) i) 4% a, b, ¢ & Tew TRE I
. - - -
 wEREfR a4+ b+c=0,7
frg =ifsg
e T T T
axb=bxc=c¢cxa.

i) k ® A9 WA wiwg A e
(k0),(4,0)3R (0,2)d7
© . T e 4§
7. a)  Solve the following system of the
-~ ‘equations by matrix method :
xtytz=6"
x-y+.z2=2
2xt+ty-z=1

by matrix method.
: . - 3 2 I
b) 1) If a, b, ¢ are three vector
quantities, such that
—+ 3 —
a + b + ¢ =0, then prove
— e
that a x !)=3x3=:xg
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Find the value of k, if area of
tnangle with vertex ([ k, O,

(4,0)and (0,2 ) 1s 4 square
unit.

ii)

n/2 L.
J‘ Sin° x
5 Sin x + cos

T |

2
xdx hl 919 719

Wmm%aﬁ%

Find the value of
Tl'f 2 . 2
J‘ sin“ x
Sin x + cos x

0

Prove that the rectangle of
maximum area inside a circle . is
square. : '

femmsu f% aqaammmm

(e - 9132 = x + 2y WA s

AHIFIV] § T TR & W T g

) At a2 y2/3 g2/

A x-381 W @ I ST §
dr femigu T TEET g

. ) Y
YCOSO-XSINQ=acos2p 8|
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sin"ly & = dy

i) A y=xM TR A ==
T RIS |

Show that the differential equation

'(x - y}ﬂli‘: X +2yis homqgenéous _

dx
differential equation, and find also
its solution. '
) If normal ‘to  the curve

x*% 423 =q2/% makes an-

angle ¢, with the axis of x,

then show that its equation is T

ycosg-xsing=acos2p.

e Co -
i) If y=x*"" % then find Y






